WORKSHEET 3

1. According to the IS-LM model, what happens in the short run to the interest rate, income, consumption, and investment under the following circumstances? (Assume everything else is held constant.)
a. The central bank decreases the money supply.

i. The interest rate ______________________________

ii. Income _____________________________________

iii. Consumption _____________________________

iv. Investment __________________________________

b. The government decreases its level of expenditures. 

i. The interest rate _________

ii. Income ___________________________

iii. Consumption __________ _______________________

iv. Investment ________________________

c. The government imposes a new lower level of taxes. 

i. The interest rate ______________________

ii. Income ______________________

iii. Consumption ______________________

iv. Investment _____________________

2. Use the following information to answer this set of questions. An economy can be described by the following equations:

C = 200 + 0.75(Y – T)

I = 200 – 25i
G = 100 and is constant and exogenously determined

T = 100 and is constant and exogenously determined

The demand for real money balances = M/P = Y – 100i
M = money supply = 1000

P = price level = 2

a. Write an equation for the IS curve for this economy.
b. Write an equation for the LM curve for this economy.

c. What is the equilibrium interest rate and the equilibrium level of output for this economy given the above information? 

d. What is the equilibrium level of consumption and the equilibrium level of investment for this economy?

e. Suppose that the money supply is increased to 1200. What is the new equilibrium level of interest rate and the new equilibrium level of output for this economy given this change? What is the new equilibrium level of consumption?
f. Suppose that the initial information is true (no change in the money supply). If government purchases increase to 150, what is the change in output predicted by the Keynesian Cross diagram? What is the actual change in output based upon the IS-LM model?
3.
Assume the following IS-LM model:

     
expenditure sector:                 
money sector:

     
AD   = C + I + G + NX           
M  = 500

     
C    = 110 + (2/3)YD                
P   = 1

     
YD  = Y - TA + TR                 
md = (1/2)Y + 400 - 20i

     
TA  = (1/4)Y + 20

     
TR  = 80

     
 I     = 250 - 5i

     
 G   = 130

     
 NX = -30

    a.    Calculate the equilibrium values of private domestic investment (I), tax revenues (TA), and real money demand (md). 

    b.
How much of private domestic investment (I) will be crowded out if government purchases are increased by   (G = 100?

4.
From the following information, calculate the equilibrium values of investment (I), net exports (NX), and money demand (md).



expenditure sector:            

money sector:

     
S    = - 200 + (1/5)YD             

ms = 400

     
TA  = (1/8)Y - 40                                     md = (1/4)Y + 100 - 5i

     
TR  = 60

      
I     = 300 – 10i

      
G    = 70                                  

       
NX = 150 - (1/5)Y

5.
Assume that the money sector can be described by the equations: 

          money supply:     ms = 600    and    money demand:    md = (1/4)Y + 400 - 15i. 


The expenditure sector can be described by the equation: 


intended spending:  Sp = C + I + G + NX = 400 + (3/4)Y - 10i.


Calculate the equilibrium levels of Y and i, and indicate by how much the central bank will have to change money supply if its goal is to keep interest rates constant after government purchases are increased by (G = 50. Show your solutions graphically and mathematically. 

6. 
Assume the equation for the IS-curve is:  Y = 1,200 – 40i


and the equation for the LM-curve is:  Y = 400 + 40i.

   a.
Determine the equilibrium value of Y and i.

   b.
If this is a simple model without income taxes, by how much will these values change if the government increases its expenditures by (G = 400, financed by an equal increase in lump sum taxes ((TAo = 400)?

7.
Assume the following IS-LM model:

    

expenditure sector:            

                             money sector:


Sp   =  C + I + G + NX            I      = 300 - 20i

M   = 700


 C    =  100 + (4/5)YD             G    = 120
 
P    = 2

 
YD  =  Y - TA                         NX  = -20

md  = (1/3)Y + 200 - 10i


TA  =  (1/4)Y                        

   a.
Derive the equilibrium values of consumption (C) and money demand (md).

   b.
How much investment (I) will be crowded out if the government increases its purchases by (G = 160 and nominal money supply (M) remains unchanged?

   c.
By how much will the equilibrium level of income (Y) and the interest rate (i) change, if the Fed responds to this increase in government purchases by increasing nominal money supply to M' = 1,100?
8.
From the following information about the expenditure and money sectors, calculate the equilibrium level of income (Y), the interest rate (i), and real money demand (md). Then explain with the help of an IS-LM diagram (no numbers) what, if anything, should happen to income and the interest rates if taxes (TA) and government purchases (G) are both decreased by the same amount.  

   
Intended spending is of the form:   Sp = C + I + G + NX = 500 + (3/5)Y - 20i


Real money supply:    ms = 350     and       real money demand:    md = (1/3)Y + 200 ‑ 10i

9.
Assume the money sector can be described by the following two equations: 



md = (1/4)Y - 10i   and   ms = 400. 


In the expenditure sector only investment spending (I) is affected by the interest rate (i), and the equation of the IS-curve is: 

Y = 2,000 - 40i.

a.
Assume the size of the expenditure multiplier is ( = 2. What is the effect of an increase in government purchases by (G = 200 on income and the interest rate?    

b. Can you determine how much investment is crowded out as a result of this increase in government purchases? 

c. If the money demand equation were changed to md = (1/4)Y, how would your answers in a. and b. change? 

10.                  C = 200 + 0.25Yd
I = 150 + 0,25Y – 1000i

G = 250
T = 200 

L = 2Y – 8000i

M/P = 1600

a.
Write an equation for the IS curve for this economy.

b.
Write an equation for the LM curve for this economy.

c.
What is the equilibrium interest rate and the equilibrium level of output for this economy given the above information?
11.                 C = 200 + 0.25Yd

      I = 150 + 0,25Y – 1000i

      G = 250

      T = 200 

       L = 2Y – 8000i

       M/P = 1600
a. Suppose that the real money supply is increased to 1840. What is the new equilibrium level of interest rate and the new equilibrium level of output for this economy given this change?

b. Suppose that the initial information is true (no change in the money supply). If government purchases increase to 400, what is the new equilibrium level of interest rate and the new equilibrium level of output for this economy given this change?

12.                 C = 50 + 0.9 (Y-T)
      I = 150 – 5i

      G = 100
      T = 100 

       L = 0,2Y – 10i

       M/P = 100

       X = 20

       M = 10 + 0,1Y

a. Write an equation for the IS curve for this economy.

b.
Write an equation for the LM curve for this economy.

c.
What is the equilibrium interest rate and the equilibrium level of output for this economy given the above information?
d. Find the balance of trade.

13.                  C = 100 + 0.9 Yd
       I = 600 – 30i

       G = 300
       T = (1/3)Y 

       Transaction demand for money: M= 0,4Y
       Speculative demand for money: M= -50i
       M = 1040
       P = 2

       
       a. Write an equation for the IS curve for this economy.

b.
Write an equation for the LM curve for this economy.

c.
What is the equilibrium interest rate and the equilibrium level of output for this economy given the above information?
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